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Date:

Lucknow Cantonment Board

Question Paper for Midwife
05.02.2023 Time: 1.30 am to 03.00 pm

An objective type of exam where candidates must mark the correct choice of
answer in an OMR answer sheet.

This question paper consists of 12 pages.

The questions of written test are some in English and some in Hindi language
(total 100 questions) carrying equal marks is of Objective type. Duration of
exam is 90 minutes. Answer to the questions must be marked on OMR answer
sheet. There is 0.33 Negative marking for wrong answers.

In the answer sheet, use BLACK BALL POINT pen only for Name, name of the
post, Roll number, application number, answers, sign, etc.

If the answer sheet is NOT numbered, immediately get the answer sheet
replaced from the invigilator.

Answer sheet will have space for sign/initials of the candidate and the
invigilator.

Immediately after the exam starts, please check if the question paper has any
unprinted or torn or missing pages or items. In such a case, you must get the
complete question paper replaced.

Space is provided for rough work in the question paper on last page.

The answer sheet is NOT supposed to be folded or mutilated in any way.

You are also NOT supposed to write anything on the reverse of the answer
sheet.

The OMR is going to be evaluated by a computer. So, you must take extreme
caution while marking in the answer sheet. Since you cannot erase the answers
once marked (with a black ball point), please take care to mark it carefully.
The questions will be printed in the question paper. It contains questions under
each of which four choices will be given. You must mark the answer in the
Answer Sheet (OMR Sheet) against the appropriate serial number.

You must mark the correct answer choice in the answer sheet by completely
darkening the circle against the correct choice (a/b/c/d) with a black ball point
pen- only.

Candidate must handover OMR answer sheet to invigilator after completion of
exam. Before handing over OMR answer sheet to invigilator, please check
admit card number correctly entered or NOT.
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Q Sr.
No.

Question Details

AP arsw guid &1 gA@ frefaRaa Reafa & fear wmar 2:

A) T ¥ B) 39 & =@lc #
C) frsl xR B89 W D) &sa &) U wdd W

grsuRNIRfaaT wge 1 9 99 guR @ fag yahr s+ aran
TP ATeq ©

A) 105 ¥ 31fera B) 100 9 102 & €19
C) 102 9 104 & 4= D) 105 & &

yaTdl gRYM @ fog 3ifeldeld & ATUATE &l §91¢ @1 ARy |

A) 112°C B) 121°C C) 120°C D) 125°C

A& Holl HUILT BT Th I&TERT o

A) 3rfere aor B) giferar C) #RTE™ D) f&a &1 <RI

foa Su A R oA 91 @ 9o 9 QAT @1 WIdT 27

A) 5 HEH BT 31y F B) 6 wElM @ 3y #
C)1o wd @1 gy § D)1 a3l &) sy A

YTIie W 9T & ddd o

A) & B) wgIroT R faor
C) Eidpravor D) W& el BT AT HRAI

e A1 feedY A & fon fear wiman @
A) dfernmgasfea B) srafar C) wegiiE D) AIDS

3Mfeasd AR BT Ub IaleNvl o

A) B¢ |9 g 94R B) wrdwifie WA
C) aIRvg= D) a& @I Afraafaq

Taurrd Rig] @1 e &itwa ik uRfYr @@ s 27

A) 38 cm B)34cm C)40cm D) 30cm

10.

TP FAIS] drRlGdl AT fha S-&n &1 $ax (Cover) f&ar smar 2?2

A) 500 B) 5000 C) 3000 D) 1000

11.

THABRT  THRIHD &V &I Ugdrd &rd 2:
A) RiRed & B) St & C) wifaraw & D) ¥

12.

BCG @ & & oM & foy wa 38T ai&T $i9 a1 87
ESARLE B)a¥s @& 1 C) SETHEHR D) -al #
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afemessmf~ena e W Reufa 8 o9 wwfaifesd ga @t 7= /=1 @ &9 a8l
i |F
A) 200 ml & B) 800ml & C) 700ml & D) 300ml| &
wEHE @ AR & oy waias A Jie= e:
14. A) aifere AN &1 A9 B) aifere adr &1 da+
C) S=a BIga} X gIiw Wi &1 da D) atfere AN 9 &7 & &1 A9
AR YHR P IAR—AST &I A1 qdIs¢ foraH dfg & JTHANT DI ggo! B g
5 | P Bl ©
A) REer hder B) ®ieil Hhaex C) 99T Whdex D) @ Whacy
16. Influenza virus such as HIN1 spreads through:
A) droplet nuclei B) contaminated food C) rabid dog D) mosquitoes
First course of oral contraceptives should be started in which day of
17. | menstruation?
A) 2" day B) 5" day C) 6™ day D) after 10 days
Excessive bleeding during the third stage of labour:
18. | A) delivery of the baby B) rupture of the uterus
C) postpartum haemorrhage D) puerperal haemorrhage
Which radiation is used in solar cooker?
o A) UV rays B) infrared rays C) X —rays D) Visible rays
20, Which one of the following is not a micro nutrient?
A) boron B) zinc C) phosphorus D) chlorine
91, Which material is best for making the core of electromagnet?
A) copper B) zinc C) steel D) Soft iron
Primary colours of light are:
22. | A) Red, Green and Blue B) Red, Yellow and Green
C) Red, Yellow and Blue D) Red, Indigo and Orange
An example of a chemical change:
23. | A) crushingacan  B) CaO is added to water
C) breaking a glass D) NaOH is added to water
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24.

If an aqueous solution of Sodium chloride is electrolyzed, the products are:
A) Hydrogen at the anode and chlorine at the Cathode

B) Hydrogen at the Cathode and Chlorine at the anode

C) Sodium at the Cathode and Chlorine at the anode

D) Chlorine at the anode and sodium at the Cathode

25.

The boiling point of a liquid increases with:
A) increasing atmospheric pressure B) decreasing humidity

C) increasing ion attractions D) Decreasing volatility

26.

Character which is not specific to class mammalia?
A) Seven cervical vertebrae B) A four chambered heart

C) Sweat glands D) Vertebral Column

27.

mineral is not required by the human body?
A) Zinc B) Gold C) Calcium D) Copper

28.

What happens when you rub your hands together?

A) Mechanical energy gets transformed to heat energy
B) Heat energy gets transformed to mechanical energy
C) Kinetic energy gets transformed to heat energy

D) Chemical energy gets transformed to heat energy

29.

The liquid metal is:

A) aluminium B) tin C) gold D) mercury

30.

Which of the following is not a root?

A) Beets B) Potato C) Turnips D) Carrot

31.

In a substance, electrical conductivity increases with the increase of
temperature. It is a:

A) Non-metal B) Insulator C) Semiconductor D) Metal

32.

Which of the following disease is not spread by an insect?
A) Malaria B) Yellow Fever  B) Chicken Pox D) Chikungunya

33.

What are the benefits of working out outside where there are plenty of green
trees?

A) It is a peaceful area B) It prevent sweating
C) To get fresh air D) To get fresh carbon dioxide
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In the process of inhalation, the lungs get filled with air because of the:
A) ribs move up and outwards and diaphragm moves down.
34. | B) diaphragm move up and ribs move down
C) both diaphragm and ribs move up
D) both diaphragm and ribs move down
35, Which colour is shown by phenolphthalein in sodium hydroxide:
A) Green B) Pink C) Yellow D) Orange
is not responsible for depletion of water table:
36. | A) Over pumping of groundwater B) Deforestation
C) Increasing rate of industries D) To plant trees
The working of stomach was discovered by:
37. | A) William Blake B) William Dalrymple
C) William Beaumont D) William Harvey
Archipelago: Islands :: Massif:?
38. | A) Mountains B) Caves
C) Forests D) Hillocks
39, Where are the sebaceous glands located in human body?
A) Lungs B) Kidney C) Heart D) Skin
It is not a birth control method?
40. A) Copper T intrauterine device B) Natural method
C) MTP (Medical Termination of Pregnancy) D) Hormonal Method
Rickets causes a child’s bones soft and weak, which can lead to bone
41. | deformities. It is due to the deficiency of:
A) Vitamin C B) Vitamin D C) Vitamin K D) Vitamin A
Which substance is added to the blood sample drawn from the patient for
42. | analysis of blood corpuscles and plasma?
A) Heparin B) Alcohol C) Glucose D) Warfarin
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Animals communicate using signals, which can include visual auditory, or sound
43, based chemical. They are called:
A) digital signals B) neurotransmitters
C) pheromones D) Allelochemicals
Guttation happens when:
A) The root pressure is low.
44. | B) The root pressure is high and the rate of transpiration is low.
C) The root pressure is equal to the rate of transpiration.
D) None of these
Which aqueous solution is basic in nature?
45. A) Nitric acid B) Sodium Chloride
C) Acetic acid D) Sodium Acetate
In which case entropy will decreases?
46. | A) as temperature increases B) Stretching of rubber band
C) boiling of egg D) Melting ice
Which of the following statement is true if the filaments of 40W and 80W bulbs
are of the same length?
4 A) 80W filament is thicker B) 80W filament is thinner
C) 40W filament is thicker D) both are of same thickness
438, The total energy of simple harmonic oscillator is proportional to:
A) displacement B) mass C) square of the amplitude D) velocity
When the temperature is increased the angle of contact in a liquid is:
49. | A)increases B) Remains constant
C) Sometime increases sometime decreases D) decreases
50, What is the specific heat of water when boiling water is changing into steam?
A) -1 B)O C) infinite D)1
51. |80 &T 30% T =7
A) 20 B) 24 C) 25 D) 21
faa 9 wdier 7 82% sid urw fHy | afe 3@ 480 2, A1 AVHAH 3P @ DIFAIY?
52.
A) 500 (approx) B) 585 (approx) C) 450 D) 475
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40 BTl @I Th &1 A, 45% rsfHar & an 3y dso ? | afe asfear & Iial
53. | BT 3id 54 3R ASPHI D JBI BT A 46 2, Al TN H&AT T 3M¥d AP AT
N |
A) 498 B) 49.7 C) 496 D) 495
TP faar 43U+ g7 9 der, H R O & 99Y Rl Y $ a)E] A1|° afe
” faar @Y amyg a1+ 38 aef 2, At uia a3 usa gF I Iy oft:
A) 14 a3t B) 19 asf C) 33 agf D) 38 agf
204, 1190 X 1139 &I HE<TH HYAd b 8—
55.
A) 17 B) 18 C) 19 D) 21
56 Product of two co-prime number is 117. Then their LCM is
A)9 B) 13 C) 39 D) 117
The least among of following is:
57.
A)0.2 B) 1+0.2 C) 0.2 D) (0.2)?
When 0.232323..............is converted in to a fraction, then the result is:
58.
A) /s B) */s C) %/99 D) /100
5q 63-(-3)(-2-8-4) +[3{5+(-2) (-1)}] = ? Find the value.
A) 65 B) 60 C) -60 D) 61
60 107 + (3/s)+ (Y/s) —2.48 + 7.12 x 25 +(%/x) = ? Find the value.
A) 304 B) 278 C) 289 D) 267
61 What is the mean of the first n natural numbers?
A)n B) (n+1)/2 C) n(n+1)/2 D) None of these
A box contains 5 white and 4 black balls. Two balls are picked together at
random from the box. What is the probability that these two balls are of
62. | different colours?
A) 1/2 B) 5/9 C) 1/3 D) 5/18
Find the value of:
63 3x7+5-6+3-9+45+5%x4-45is
A) 36 B)9 C)7 D)6
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64.

A certain sum amounts to Rs. 13200 after 4 years and to Rs. 16400 after 8 year
at the same rate per cent per annum at simple interest. The simple interest (in
rupees) on the same sum at 10% per annum of 3!/s year will be:

A) 3200 B) 4000 C) 4200 D) 5200

65.

A tunnel is 235m long. A 725m long train passes the tunnel in 48sec Find the
speed of the train.

A)15m/s B)20m/s C)22m/s D) 30 m/s

66.

gfe PIPE &1 169165 foram wirar @, df SWAN &1 3ifaH 3 «ar 87

A)s B)e6 C)a D)3

67.

I daw’ A9 2 WG U@ 2, vEr ™ @ AR At wa’ 2, 9 afaa
frr=farRaa 9 9 foa wx d3m?

A) var B) &t C) &d D) dwi

68.

frr=iferfiaa & 9 SI9 41 wTeq €Y T8 AT &I YGRT BT FTARVT BT 272
PQPPPP, PPQPPP, PPPQPP, PPPPQP,
A) PPPPPQ B) QPPPPP C) PPQPPP D) PQPPPP

69.

fr=iferRaa gea 4, &) 1% HEdr 4 W AT BT AT B |

11, 14, 19, 22, 27, ?

A) 32 B) 31 C) 30 D) 33

70.

fay v fapeat ¥ @ wafera wss & gfrg|
U1 : fHRol = eafy @ ?

A) sitfsat B) a1 C) g1 D) gud

71.

The relation of the skeleton with the body is the same relation as that of
with grammar?

A) Sentence B) Science C) Language D) Meaning

72.

If A+B means A is the mother of B; A-B means A is the brother B; A%B means A
is the father of B and AxB means A is the sister of B. Which of the following
shows that P is the maternal uncle of Q?

A) Q-N+MxP B) P+SxN-Q C) P-M+NxQ D) Q-S%P

73.

Introducing Sonia, Aamir says, “she is the wife of only nephew of only brother
of my mother.” How Sonia is related to Aamir?

A) Wife B) Sister C) Sister-in-law D) Data is inadequate
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74.

Find the dissimilar word from among the following
Bihu, Onam, Odissi, Kathak
A) Kathak B) Bihu C) Odissi D) Onam

75.

Choose the odd one out among the following options.
A) Brush B) Colour C) Painting D) Artist

76.

foa w3 A "I Yo ARA AR WIS fHar om ?

A) &1 HATd B) I8 HATA
C) arfore =ama 3iR IifSreRedr d3rery D) TR&Ifead dgla <1

77.

ISR DR SN GAT fedd &d HATIT ST 27

A) 19 STad B) 7 Fa€R C) 26 #g D) 2 Jracax

78.

"ATRIA de IR feaa d«4fea a7

A) g5 4 RN &1 Fereq @ fog

B) Covid-19 # faqen # »¥ WRdA &1 fare @ fog
C) u<ia Y& fofor & fore

D) 43 9Rd ¢

79.

fra <9 A "ag Y Y afeer fava $9 2022° &1 Raae shar?
A) 9Rd B) 37divs C) s feram D) urfbear

80.

HRd & 9di=d daid) i A 27?

A) DS B) sieT <dl C) ®-2 D) &md

81.

Every year on the 15" August, Independence Day of India, the Prime Minster
hoists the Indian “Tricolour Flag” at the gate of this historical fort:

A) Humayun’s Tomb B) Jama Masjid
C) Red Fort — Delhi D) Qutub Minar

82.

The United Nations Development Programme (UNDP) has it’s headquarter at
A) New York B) Geneva C) Washington DC D) Paris

83.

ISO stands for

A) Indian Space Organisation B) International Space Organisation

C) International Organisation for Standardisation D) None of the above

84.

What is the duration (in minutes) of one half of a football match?
A) 30 B) 35 C) 40 D) 45
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85.

Who addresses the Parliament after the commencement of the first session
after each general election?

A) The Prime Minister of India B) The Chief Justice of India
C) The President of India D) The Vice-President of India

86.

Who among the following is the Chairman of NITI Aayog, Inter-state Council,
National Water Resource Council?

A) The Prime Minister of India B) The President of India
C) The Chief Justice of India D) The Vice-President of India

87.

Moderator in nuclear plant is used to
A) reduce temperature
B) extract heat from nuclear reaction
C) control the reaction

D) cause collision with the fast moving neutrons to reduce their speed

88.

When is the World Health Day celebrated?

A) 7™ April B) 10t April C) 15 April D) 17t April

89.

Which two articles cannot be suspended during the proclamation of National
emergency?

A) Articles 19 and 20 B) Articles 20 and 21
C) Articles 14 and 15 D) Articles 32 and 30

90.

What is the minimum age required, to contest the elections to the Panchayats?

A) 18 years B) 21 years C) 25 years D) 30 years

91.

Direction [Q91 & 92]: Out of the four alternatives, choose the one which best
expresses the meaning of the given word.

Hideous
A) Auspicious B) Pleasant C) Desirous D) Horrible

92.

Conspiracy -
A) Handicap B) Severance C) Scam D) Concert

93.

Direction [Q93]: Choose the word opposite in the meaning to the given word.
Fraudulent
A) Candid B) Direct C) Forthright D) Genuine

94.

Direction [Q94]: In the following question, a sentence is given which may need
improvement. Alternatives, (a), (b) and (c) are given below, which may be a
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better option. In case no improvement is needed, your answer is (d). Choose
the appropriate answer.

He has for good left India
A) He has left for good India B) He has left India for good
C) Good he has left India D) No improvement

95.

Direction [Q95]: Groups of four words are given. In each group, one word is
correctly spelt. Find the correctly spelt word

A) Jewelery B) Psycology C) Aprentice D) Aristocracy

96.

Direction [Q96]: Out of the four alternatives, choose the one which can be
substituted for the given words/sentence.

In extreme old age when a man loses mental poise and alertness

A) Imbecility B) Senility C) Dotage D) Superannuation

97.

Direction [Q97-100]: Sentences are given with blanks to be filled in with an
appropriate word Four alternatives are suggested for each question. Choose
the correct alternative.

| would have been able to read for a while before bed time.
A) If the room was brighter B) if the room are brighter
C) Had the room been brighter D) If the room had been brighter

98.

brought down his downfall.

A) His intense desire B) His desire for power
C) His fatal desire D) His powerful desire

99.

Would you kindly the knot?

A) untie B) break C) loose D) open

100.

He to me that he would be coming late.

A) sent word B) had sent a word
C) sent words D) No improvement

SPACE FOR ROUGH WORK
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